
 

Find the place of the underlined 
digit: 
 
1. 345,938 
2. 457,394 
3. 834,948 
4. 374,988 
 

 

Multiplication Comparisons: 
At the carnival there were six people 
in line at the roller coaster and two 
times as many in line at the Ferris 
Wheel. How many people were at the 
Ferris Wheel? 

Round the number to the nearest 
underlined digit: 
 
1. 984,384 
2. 456,934 
 

Multiply: 
(Use any method you want) 

1.     95 
   X 38 
 
 
2.    43 
   X 29 
 
 

Addition: 
1.  389,093 
 + 289,309 
 
Subtraction: 
1.  993,093 
 -504,940 
 
 

Multi-Step Word Problem: 
A developer was buying land. He 
bought 5 acres at $1,986 per acre. He 
then split the land he purchased into 3 
lots. How much should he sell each lot 
for just to break even? 
 
 

Divide: 
(Use any method you want) 
 

1. 4,093/6 
 
 

2. 8,768/4 
 
 
** Ask your parent to choose 2 
numbers (2-20) and list the first 6 
multiples of them 
 
**Ask your parent to choose 2 
numbers and list all of the factors 
for them. 
 
 



  
An envelope from the post office is 
6 inches wide with a total area of 36 
square inches. What is the height of 
the envelope? 
 
Area:_____ 
 
Perimeter:_____ 
 
A window had a length of 6 feet and 
a width of 7 feet. What is the 
perimeter of the window? 
 
Area:_____ 
 
Perimeter:_____ 
 
 
Equivalent Fractions: 

 
Comparing Fractions: 

 


